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2008-09 Region Competition

Match #5


These questions are for use in the Virginia High School League’s Scholastic Bowl Region competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Regions must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL Region champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your Region’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
It takes its name from a word meaning ‘trodden path.’ It does not accept the practice of mut’ah, which is a form of temporary marriage.’ Its followers follow the example of the Rashidun, the ‘rightly guided’ ones. Some of its ‘schools’ include Hanafi, Maliki, and Hanbali. It consists of those who believe Abu Bakr, and not Ali, was Muhammad’s rightful successor. What largest denomination within Islam stands in opposition to Shi’ite Islam? 

ANSWER: Sunni Islam

2.
One of these is usually serviced each month by a payment described by the acronym PITI (spell it out). A ‘balloon’ one of these requires the balance to be paid in full at the end of a term. Their Alt-A variety includes the ‘jumbo’ class. Their NINA and NINJA types did not require an applicant to verify income or assets. Subprime, interest-only, and adjustable-rate are varieties of what loans used to finance real estate purchases? 

ANSWER: mortgage(s) (prompt on loans, accept ‘home loans’ or clear-knowledge equivalents)
3.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the complex product of (5 plus 3i) and (8 minus 5i), given that it is equal to the simplified form of 40 minus 25i plus 24i minus 15 i squared?

ANSWER: 55 minus i
4.
This five-letter word comes to us from a Greek word meaning ‘Egyptian boat.’ Its use as a verb started in the 19th century, and it refers to moving clumsily while bumping into things. When paired with ‘in,’ it means to interrupt rudely. As a noun, what word refers to a flat-bottomed vessel with a large carrying capacity, such as what Cleopatra rode on the Nile or the Mississippi River’s cargo boats? 

ANSWER: barge
5.
He modified Wien’s law to predict spectral radiance at low frequencies. He rejected the Copenhagen Interpretation as he believed wave mechanics would make his main hypothesis unnecessary. This hypothesis was that energy is absorbed and radiated in discrete quantities divisible by 6.626 times ten to the negative 34th power joule seconds, an amount known as his constant. Who thusly formulated quantum theory? 

ANSWER: Max Planck
6.
Some of his non-military fiction includes Payment Deferred. His non-fiction included the biography Nelson, the World War II work Hunting the Bismarck, and The Age of Fighting Sail. In 1941, he wrote The Captain from Connecticut to portray Americans and Britons as natural allies. Other novels include A Ship of the Line and The Commodore, both part of an eleven-novel series. Who wrote about Rose Sayer and Charlie Allnutt in The African Queen and created the character of Horatio Hornblower? 
ANSWER: C.S. Forester
7.
It has the chemical formula C3H6N6 and is polymerized from cyanic acid. It can appear to raise protein level counts when inserted into products like baby milk, eggs, and chocolates, but when combined with cyanuric acid it can create a complex with an LD-50 of 4.1 grams per kilogram in rats. What is this chemical substance that has recently been found in exported Chinese edibles, notably cat and dog food?


ANSWER: melamine
8.
The Rossby number determines this force's influence; objects with large Rossby numbers are dominated by centrifugal force rather than this. Ekman transport describes the motion of water along the surface by relating the effects of wind, drag, and this force. Leon Foucault designed an object to demonstrate this effect, known as his pendulum.  In an rotating reference frame, what fictitious force acts on airplanes and winds but not on the water going down your drain?


ANSWER: Coriolis force or effect

9.
Royal Gorge is located near this river’s source. Along its midsection, it takes in the Canadian and Cimarron Rivers. At Tulsa, it becomes a major waterway capable of handling cargo traffic. Other cities it flows through include Wichita and Little Rock, where its name has two different pronunciations.  It is the sixth-longest river in the United States and the third-longest tributary of the Mississippi, after the Ohio and Missouri rivers. What is this river named for the state south of Missouri? 

ANSWER: Arkansas River 
10.
Places they have been found include Spain, Vietnam, and at Zhoukoudian in China.  Examples of them include Turkana boy and Java Man.  They were the first to leave Africa and may have controlled fire.  Name this extinct species of early human whose name is Latin for upright man.

ANSWER: Homo erectus
11.

His grandfather Fulbert was a tanner. He was also called ‘the bastard’ because his father, Robert I, did not marry his mother, Herlette. He married Matilda of Flandres over papal objections. His reign as king included the Harrowing of the North and the commissioning of the Domesday Book. His nine known children with Matilda included William Rufus and Henry I, who followed him as King. His son Robert received his lands in Normandy. Who won the Battle of Hastings to become King of England? 
ANSWER: William the Conqueror or William I
12.
In late 1916, half this country’s army was captured when it entered World War I. Before World War II, its king, Carol II, abdicated and was replaced by the fascist Iron Guard. After World War II, its new king, Michael I, abdicated under pressure from the Communists. It did not contribute troops to the invasion of Czechoslovakia, nor did it support the Soviet boycott of the Olympics. What country became free of the Iron Curtain after the death of its former dictator, Nicolae Ceaucescu (CHOH-cheh-skoo)? 
ANSWER: Romania
13.
He had a baby brother, Tommy, introduced in 1996. His rarely-used last name is Carson. His friend Todd married Tracy and his friend Alan married Midge. In 1993, he started wearing a lavender vest and an earring. To be like him, a man needs to be 20 inches taller and to add 11 inches to his chest. He joined the army in 1992 and won Olympic gold in 1974 and 1997. In 2004, he broke up with his longtime girlfriend, but got back together in 2006. Who is this long-time boyfriend of Barbie? 

ANSWER: Ken doll

14.
For it to hold, surface tension must be negligible.  It was discovered while its namesake was getting into a bathtub.  Name this principle named after an ancient scientist from Syracuse that states an object in a fluid is buoyed up by a force equal to the weight of the displaced fluid.

ANSWER: Archimedes’ principle

15.
This novel ends when Luster drives the horse and carriage the wrong way. Other supporting characters include Herbert Head, Dalton Ames, and a man with the red tie. It is set over Easter Weekend in 1928, but the second part flashes back to 1910. Each part is narrated by one of four characters, they are Dilsey Gibson and three brothers: Benjy, Jason, and Quentin. What is this novel about the Compson family by William Faulkner? 

ANSWER: The Sound and the Fury
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What radical abolitionist founded the anti-slavery newspaper The Liberator? 

ANSWER: William Lloyd Garrison
1B.
The Battle of the Overpass and the Flint sit-down strike are events in the early history of what union? 

ANSWER: United Auto Workers or UAW
2A.
What song title was used by Rihanna for a single from Good Girl Gone Bad and Amy Winehouse for a single from Back to Black? 

ANSWER: ‘Rehab’
2B.
Several types of this device exist, though the most common are the windmill variety, integrated with a vane to indicate direction as well as speed, and the cup variety.  This is what instrument, used to measure wind speed?


ANSWER: anemometer
3A.
A curse from the Wizard Maule hangs over the Pyncheon family in what novel by Nathaniel Hawthorne? 

ANSWER: The House of the Seven Gables 

3B.
What combative Democratic Representative from Illinois and former DCCC chairman did President Obama pick as his Chief of Staff on November 6th?


Answer: Rahm Emanuel
4A.
Adelie, Macaroni, Chinstrap, King, and Emperor are all types of what bird?

ANSWER: penguin
4B.
What three-letter word describes either an audible vibration such as a window in its frame, an unpleasant shock, or a glass container with no handles and a wide mouth? 

ANSWER: jar
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is the sum of the numbers from 11 to 30?

ANSWER: 410
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  How much money is 11 quarters, 5 dimes, 6 nickels, and 23 pennies?

ANSWER: $3.78
6A.
In Albert Einstein’s famous formula E = MC2, what does C represent?

ANSWER: speed of light
6B.
Spell out the first person singular form, in the imperfect indicative tense, of the French verb dormir. 

ANSWER: d o r m a i s
7A.
Madame Villeneuve wrote what fairy tale in which Belle’s kiss returns the other title character to his handsome princely form? 

ANSWER: Beauty and the Beast
7B.
What Austrian diplomat presided over the Congress of Vienna? 

ANSWER: Klemens von Metternich
8A.
Philo of Byzantium and Antipater of Sidon created lists of what major tourist attractions for the ancient traveler? 
ANSWER: Seven Wonders of the World

8B.
What is the chemical formula of nitrate?

ANSWER: NO3
9A.
A dot over the notehead indicates a note is to be played in what manner, where each note is separate and seemingly abrupt? 

ANSWER: staccato
9B.
Persephone and Aphrodite each got to spend six months with what handsome young mortal, the son of Myrrha and her father Theias? 

ANSWER: Adonis
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the height of a trapezoid with bases of length 12 and 20 feet and area 272 square feet?

ANSWER: 17 feet
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the focus of the parabola y equals one-fourth (x minus 5)2 plus 10?

ANSWER: (5, 11)
Third period, 15 toss-ups, 10 points each

1.
Thrown in with plants in the three-kingdom system, its members make up two parts of the three-domain system.  It is part of the five-kingdom system, but was split in two to form the six-kingdom system.  Name this kingdom that includes bacteria, cyanobacteria, archaebacteria, and the prokaryotes.

ANSWER: Monera
2.
This institution is described by Article 41 of its country’s constitution as ‘the highest organ of state power.’ In addition to single-member districts, members are elected through proportional representation and multiple members from each of the 47 prefectures. Rural areas are over-represented due to the historical strength of the Liberal Democratic Party. The House of Councilors and the House of Representatives are the two houses of what parliament of Japan? 

ANSWER: National Diet of Japan (accept Japanese Diet)
3.
This grammatical concept is used to establish an identity or an attribute for the subject. It can be omitted in Slavic languages, while Romance languages have one verb to establish essence and another to establish state. One of these exists in the sentence: ‘Sam seems happy.’ What type of verb, usually a form of ‘to be,’ occurs in the following sentence: ‘The tossup is 10 points,’ and is also called a copula? 
ANSWER: linking verb (Accept an early copula and prompt on an early ‘to be’)
4.
Described in The Science of Being and Art of Living, authorized teachers can teach this technique in seven steps: two lectures, a personal interview, and four two-hour classes. Organizations associated with it include the Global Country of World Peace and a University of Management in Iowa. It involves two sessions of twenty minutes, during which the practitioner closes her or his eyes and focuses on a sound called a ‘mantra.’ What technique was introduced in 1958 by the Maharishi Mahesh Yogi? 

ANSWER: Transcendental Meditation or TM
5.
Toward the end of this work, Queen Bramimonde converts to Christianity, and a duel occurs between Pinabel and Thierry (tee-ay-REE). When Thierry wins, thirty-one men are slain for the treason of Ganelon. The historic battle this work is based on, the Battle of Roncevaux Pass, was fought against the Basques, but this work focuses on a battle between the Franks and the Moors. One of Charlemagne’s paladins is the title character of what oldest surviving French epic?

ANSWER: The Song of Roland or Le Chanson de Roland
6.
It is a polar solvent with a molecular mass of 79.  Two of its molecules put together form viologen.  Its natural form is a colorless liquid with a fish-like smell.  Name this substance, the P in DMAP, which has chemical formula C5H5N and is a benzene ring with nitrogen replacing one of the CH groups.

ANSWER: pyridine (accept azabenzene or azine)

7.
The action in this novel begins when the title character wins the tournament of Ashby, causing Prince John great fear. Its villains include Maurice de Bracy, Reginald Front-de-Boeuf, and Brian de Bois-Guilbert. By its end, Aethelstane tells Cedric to swear loyalty to King Richard, the Black Knight is revealed to be Richard himself. The title character champions Rebecca of York and marries the Lady Rowena at the end of what novel by Walter Scott? 

ANSWER: Ivanhoe
8.
Gauss proved that every integer is at the most the sum of three of them.  They cannot be cubes, but a few, such as 1,413,721, 1225, 36, and 1, are also squares.  They appear as the third diagonal of Pascal’s triangle.  The nth one is the sum of the integers from one to n.  Name this type of number that can be arranged into a three-sided polygon.

ANSWER: triangular numbers

9.
Its invasion force was Brigade 2506, which was commanded by Pepe San Ramon. A change in plans prevented Brigade 2506 from linking with potential allies fighting in the Escambray Mountains. Other changes included the canceling of a second round of American air strikes due to President Kennedy wanting ‘plausible deniability.’ On April 17, 1961, a force of anti-Castro exiles attempted to invade Cuba in what failed invasion? 

ANSWER: Bay of Pigs 

10.
Between 1977 and 1980, he was defensive coordinator at The Citadel and Murray State. He was head coach at Murray State when he took his current position in 1987. Although he has gone 6-27 against Top Ten teams and 1-4 in BCS bowls, he has made 15 consecutive bowl games. He has won three Big East Coach of the Year awards as well as and two ACC Coach of the Year awards. In 1999, he lost the national championship to Florida State. Who is the current coach of the Virginia Tech football team?  

ANSWER: Frank Beamer
11.
The formula for this beverage was first developed at the Tip Bottling Company, in a town known as the resting place of Sherwood Anderson.  One derivative product of this brand was used as the name of a 2001 computer virus, while the brand while another is one of the primary sponsors of the AST tour as well as Dale Earnhardt, Jr.'s Sprint Cup Series car.  Named after a slang term for moonshine, this is what producer of Code Red and AMP, a Pepsi product sold in trademark green bottles?


ANSWER: Mountain Dew
12.
Richard Wright said this novel was a ‘minstrel-show turn to make the white folks laugh.’ It is a frame story told by the protagonist to her friend Pheoby. The protagonist is stuck in two loveless marriages to Logan Killicks and Jody Starks, but falls in love with the drifter Vergible Woods. The Okeechobee Hurricane strikes towards the end, and then Vergible is bitten by a rabid dog and dies. Vergible, also known as Tea Cake, is the lover of Janie Crawford in what novel by Zora Neale Hurston? 

ANSWER: Their Eyes were Watching God
13.
Some of its Northern European works include Rubens’ The Three Graces and Bosch’s The Garden of Earthly Delights. It was built by Charles III and Ferdinand VII and opened in 1819. In 1992, it moved all its 19th and 20th century works to the Queen Sophia Museum. Paintings in its collection include The Naked Maja (MAH-hah) and Las Meninas. Works by Goya and Velázquez are featured in what museum in Madrid?

ANSWER: Museo del Prado
14.
A stone named for him lies at the origin of the North Branch of the Potomac River. He moved to America in 1752, building his estate at Greenway Court. He employed a teenaged George Washington to survey his lands west of the Blue Ridge. He died in 1781, although his estate of some 8,000 square miles was confiscated by the Commonwealth of Virginia. The only peer to reside in America was what namesake of a community college in Winchester and the most populous county in Virginia? 

ANSWER: Thomas Fairfax or Lord Fairfax of Cameron
15.
The ‘core rope’ type of this was used in NASA’s interplanetary probes. Its ‘mask’ type is true to its name as errors on it require a complete replacement. Its ‘image’ type is contained in video game cartridges. The ‘eraseable programmable’ type can be reset by exposure to ultraviolet light. What computer component is most seen today in its ‘flash’ variety, and is often used in USB thumb drives? 

ANSWER: ROM or read-only memory (prompt on ‘memory’)
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
He was born on November 7, 1760, the seventh son of the marquis d’Auvergne (doh-VAIRN-yuh). He was later sired by Magnus while an aspiring actor in Paris. He himself sired Nicolas, Louis, and Claudia. By the 19th century, he had moved to New Orleans. He fought Akasha, the mother of all his kind, in The Queen of the Damned.  What narrator of the Vampire Chronicles series by Anne Rice, appears in Interview with the Vampire? 
ANSWER: Lestat de Lioncourt
2.
Harold Courlander called it a ‘synthetic creation,’ although steps such as the Jay-Bird were of plantation origin. It was named after a tune written by James Johnson for the Broadway musical Runnin’ Wild. Many of its steps were adapted from an earlier dance called the Juba. It itself inspired the breakaway and the Lindy hop. What dance, popular among 1920s flappers, is named for a city on the Atlantic coast? 
ANSWER: the Charleston
3.
THIS IS A 10-SECOND COMPUTATION QUESTION.  How many ways can the letters in the word awesome be arranged?  This is equal to seven factorial divided by two factorial.

ANSWER: 2520
4.
Thomas Jefferson described it as ‘the most interesting spot in the state.’ Its earliest neighborhoods were started on seven hills. It was named for a man who started a ferry service across the James River at age 17. In 1961, Lindsay Almond rejected a proposed change of route for I-64, making it the largest city (at the time) in the country not served by an Interstate. What city, located between Campbell, Amherst, and Bedford Counties, is home to Liberty University? 

ANSWER: Lynchburg, Virginia

5.
This polymer’s unit has a chemical formula of C8H13O5N.  It is used in surgical thread and is found in the cell walls of fungi and in squid beaks.  Unlike keratin, it is a polysaccharide and a glucose derivative.  Name this cellulose-like substance often found in crustacean and insect exoskeletons.

ANSWER: chitin
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